W and y
0.5

1.0

— 0.016(29) y = 0.915(74) => 0.915(74)
rm186 med(mad)

AC.B,F

L —— e — [

dmld iy luluh(“l "

| :. ' ST
By ‘kﬂ"“f}h*WM"l‘hn WMM *'*’f WMM T W*M“thmm \‘«.u‘i.*“MMWMHW‘W’# M}‘hW"M !J‘mw'w

‘:thr}hmm i l#RF iy ':WWW ! Mﬂk mﬂ

iyl “' i H‘ lh' HH’ ul hu Il " it} I

s NP
|V’|‘||‘|||| w'"lnl 11 "ﬂ'l"l}l"[” [ ||||||"|1III T“‘ i []||]|41 My '|||r| lH‘I

I R

L P nih w \wrwm

I1| L Tm[ mnh m " Il" ll'hw rl"“

Mt “-HWHWﬁ i Hnlmw

|I[II|IIII|II

2000 5000 4000

1>+06.00

N (R) z = 1.39289



